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1. Immediately after the commencement of the Examination, you should check that this
Booklet does not have any unprinted or torn or missing pages or items, etc. If any
of the above defects is found, get it replaced by a Complete Question Booklet of the
available series.

2. Write clearly the Question Booklet Version Code A, B, C, D or E in the appropriate
space provided for the purpose, in the OMR Answer Sheet.

3. Enter the name of the Subject, Reg. No., Question Booklet version code and affix
Signature on the OMR sheet. As the answer sheets are designed to suit the Optical
Mark Reader (O.M.R.) system, special care should be taken to fill those items
accurately.

4. This Question Booklet contains 70 questions carrying equal marks. All questions must

be attempted. Each question contains four answers, among them one correct answer
should be selected and shade the corresponding option in the OMR sheet.

5 All the answers should be marked only on the OMR sheet provided and only with a
black or blue ink ball point pen. If more than one circle is shaded / wrongly shaded /
half shaded for a given question no marks will be awarded.

6. Questions are in both English and Kannada. If any confusion arises in the Kannada
version, please refer to the English version of the questions.

7. Immediately after the final bell indicating the closure of the examination, stop making
any further markings in the OMR Answer Sheet. Be seated till the OMR Answer Sheet
is collected. After handing over the OMR Answer Sheet to the Invigilator you may
leave the examination hall.
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(AN A
1. Acid rain is any rain with pH
a) Below 5.6 b) Above 5.6 and below 6.9
c) Below 8.0 d) Below 7.0

503 88chen pH SPY,

cInTTe SOFODD 305308
a) 5.6 303 33 b) 5.6 T3 6.9 T BT

c) 8.0 303 3R d) 7.0 802 BT

2. The thickness of the ozone layer is measured using unit of

a) Newton b) Joule
c) Dobson d) Decibel
5,306 BHOT BHWE 3R BRBVITSY L GRRROT) BFORTIZT ?
a) SR8 b) =P’
C) WS d) Bdawe’
3. Chipko Movement was held in
a) Uttar Pradesh b) Assam
c) Karnataka d) Kerala
RSO 2edTL05) &) FHOWS ?
a) ®v3d T, 03¢ b) ©=0
C) BooF s d) 3ec¥
4. The coldest region of the atmosphere is
a) Troposphere b) Stratosphere
c) Mesosphere d) Thermosphere
TTORTET 58 O3 T, 3¢3
a) éﬁ@)fﬁﬁﬁiﬁm‘ b) ::iaﬁfaeaigbo‘
d) GRRFencddT
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in the yﬂdr
aster occurred I
5. Chemobyl nuclear ‘““’:; (a7 c) 1986 d) 1988
i <« SgRRen J03 303 ww‘rdﬁqﬁoﬂm*d ?
IO IS !
) 1985 b) 1987 of 190 i ete
a
i is used to measure
6. Richter scale 1S b) ntensity of soun q
Velocity of light )
e) Velocty 19 d) Wind velocity

c) Amplitude of seismic waves

080° RIRTIRRY, 0F u@ﬁmmgtﬁ ?
b) R B3

a) s Ien
d) movsen

C) PRBoTNY BENY FTo;

7. The biological decomposition of organic wastes under controlled conditions is

known as
b) Sanitary land fills

d) None of the above

a) Composting
¢) Incineration
20083 3,303, 5§ 08 T3, 8 QIR DJ0T0 FBOGIMST ?

™8
a) w3Reygs b) J:Fe, Joer
C) ReBTED d) R0ed RPBER =0
8. Enrichment of nutrients in a water body leads to
a) Eutrophication '
. b) Biotr i
¢) Biomagnification d; Non;l 2?1::”1&;'0”
e above

QOB GFONTYS TPERE03NY ) ‘?‘i 300 cun@cié a@m&zﬁrm#w ?

a) LTOE FeTS

¢) a8 g b) 2% Semoes
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9. The maximum permissible limit of nitrates in drinking water is

a) 45 mg/l b) 79 mgy/l ¢) 100 mg/| d) 250 mg/)
BoBO30R Dwm{i@hﬁ,cww noe DTG 60 T ¢
a) 45 mg/l b) 79 mg/l c¢) 100 mg/l d) 250 mg/l

10. is not responsible for ozone depletion.

a) Chlorofluorocarbons b) Lead
¢) Fluorine d) Chlorine
2,80 RITYNR AR ToTEIRY,.
a) 3QeCRCTRITRE TPWFD b) xex
C) PREOS d) 3Re0s
11. London smog occurred in the year
a) 1952 b) 1986 c) 1962 d) 1972
OB Fe3TE), BN W0% 035350 ROPRRT ?
a) 1952 b) 1986 c) 1962 d) 1972

12. Chlorine added to water acts as a
b) Absorbent

a) Disinfectant
d) None of the above

c) Coagulant

Qe0R BRLOT O ZeoTRn DHTIZT ?
b) &e08RS

d) e IRBTER B,

e ——

a) 2Re0BIVIITT
c) ﬁQﬁ%ﬁo&" TR0 (é’mearbécﬁoas‘)
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rence ON Huma

b) Paris
d) New Delhi

23 e503RCRRNT ?

13. The United Nations Confe

a) Rio de Janerio

c) Stockholm | s
<nas JoRoR BOD m%w@ U?ciéiﬁ ) | -
b) 0%
DodReAnIEO0IRE
: d) 3= Zod

c) mFTees
ter quality and is a parameter for

gives an empirical value towa

14.

the organic matter present in water.
d) Hardness

a) BOD b) COD c) DO

0 osasotsd, o, 0N SPE,TRY, Ve T RO, FOTODT BT VT
T 3 ol

2,0030 B3RO

a) BOD b) COD c) DO d) nesgs

15. Ozone layer is a

a) Primary pollutant b) Secondary pollutant

c) Hydrocarbon d) PAN

R TTTRY

a) T,B0T SRET TTEN b) SRF.08 IROT, FTIND

C) HTR, BT d) PAN

16. Environment Protection Act was enacted in the year

a) 1974 b) 1998 c) 1986 d) 1982
TOXT 08N WD) NS IRFTE 2078 3¢

2 2 o gt 4 Wy Y& f:::::::’:,} F)
a) 1974 b) 1998 c) 1986 d) 1982
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17. Due to incomplete combustion of fuels from petrol engines the gas liberated i

a) Carbon dioxide b) Carbon monoxide

¢) Nitrogen dioxide d) Sulphur dioxide

B, 00F [ORD V0T ROFINY e OTPEE TL/RLI0TIIN C3Tuis “Ies
DRBNFERTOIS ?
a) ROMUR &, 95,7 b) omRYE SR 7

c) TTHRITS B, & T d) nogisw s &

18. Which of the following is a green house gas ?

a) Nitrogen b) Methane

c) Oxygen d) Sulphur dioxide

QRNEY, C3RTTO BATITOIS QOTNT ?

a) RTWIT b) 0giea*

C) SRWIT d) nogss §ws &
19. Which of the following is not a fossil fuel ?

a) Coal b) Wood c) Petrol d) LPG

FoNTRNTE, IR0 TS 0PE VTR, ?

a) 3970 b) o0 c) dR,e d) o¢F.2.%.
20. The disease caused by drinking contamination.

a) Scurvy b) Typhoid c) Malaria d) Anemia

©30T V0N BeRFC0R0ERNIT TN

a) BOF b) &0d3;, c) SoSedodn d) S8R

SPACE FOR ROUGH WORK
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e C { with
21. 71% of earth surface 1S coverel

VAN

b) Air
a) Land
d) Coal
o o 3RHBTITT ?
3 % AEPRTOOT BRWTISH
gProood Soed 00 Sego 71 dmu@ﬁ 03J0R)
a) LN b) Mo¥
| )18
C) e d) T3B!

22. Minamata episode was caused by
a) Calcium

c) Lead

which heavy metal

b) Mercury

d) Arsenic

QOTRTL PrITodd S DRETF TR RO

a) 5,900

c) &¢3

23. Acid rain is caused by

a) CO and CO,

c) SO, and NO,

SRS CIRFTOCT LVOLRMITT 2
a) CO &0 CO,

¢) SO, 3% NO,

SPACE FOR

b) TTTR

d) sReQFE

b) SO, and O,

d) NO, and O,

b) SO, 023 0,

d) NO, =2 O,
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24. Marine pollution of the ocean is due o
a) Oil spills
b) Washing of Cargoships
c) Disposal of Hazardous Waste
d) All the above
Tonos SRIT D)
a) uoz% RRETLNFTOWOT
b) FReF@BBEROING 3RT0I0NFO0T
C) BOTITT T, W, NTIY Brrsfeveernjiateleln)
d) 00T VTP

gas in the atmosphere.

25. Climate change issue is due to increase of

a) Oxygen b) Ozone

c) CO d) CO,

BRI LITCRRE KRR, 010 TTTTERTY, 03 BT BEFOOT GVOLRZT 7
a) SRERIT b) t.Baees

C) BWFR® BRIF T d) Bwre® & 8 &

26. The Stockholm Conference of United Nations was held in the year

a) 1968 b) 1969 c) 1971 d) 1972
cdnd e Seater’ T RRCRT R eTT, IR SRFEA, IEZTWD ?
a) 1968 b) 1969 c) 1971 d) 1972
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i s Green
27. Which gas is mainly responsible for the

) O b) Oxygen
a zone
d) CO
c) CO, ]
- =\ TG00l ?
TUTOROS TOBIROF, R0, 5N 3N LVVD)
a) wWiees b) 53T

Slaf{capl ey
c) wommen g = d) e A%

28. Algal blooms appear in water due 10

a) High pesticides b) Nutrient enrichment
c) More silt d) Industrial effluent

QeDTA, T BRFYN LTYLD FoUED

a) B desBIND b) P& D2ssTes
C) BYR A d) 3mo0% DRRFS

29. Chikungunya is transmitted by
a) Culex b) Aedes

c) Anopheles d) Housefly
WEI O, T CBRPYTOOT FTRIZT 2

a) B, b) oo

SPACE FOR ROUGH WORK
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30. Medicine of quinine is providod by
a) Eucalyptus plant b) Aconite plant

¢) Cinchona plant d) Money plant
33 BIITR), ARITLOT THHONIT 9
5 OL2

a) QLOND TR b) esdmed by w00

C) ROBRETD TYOLF d) &on T

31. “Save Forests, Save People” campaign was initiated by
a) Baba Amte b) Anil Agarwal
¢) Medha Patkar d) Amrita Devi
“e5089, QUVR, W YR SOTREVT T3, TORATHI
a) 2P BN, b) ©* VN T

c) Soee T’ d) e Bed

32 The standards followed for drinking water quality are
a) ISl _ b) 1SO
c) BIS d) All the above
BRCINT 0T BoTIODEY T, BREIFORS [T,
a) ISl b) I1SO

c) BIS d) SO QTR
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33, Kyoto protocol is focused on

34.

35.

a) Wet land conse rvation

b) Climate change

c) Hazardous waste management

d) Biodiversity management
3, tRe wIFOTT LS

a) de3riRad O3

b) ®wondee WHEUIRTH

C) ©5T00T0 T, %, D0
d) w2y 0 ASFET

Whooping cough is medically known as
a) TB b) Pertusis

c) Pneumonia d) Allergy
T000FII ﬁdcﬁ?jseojomﬁ &oerRoT3d 33030323

a) iojgdxaeﬁ b) e
c) mgmeam d) e

In which State of India Siddha system of medicine became popular ?

a) Tamil Nadu b) Kerala

¢) Andhra Pradesh d) Karnataka
P0ZT 0IRE 0ot B, AT, T, BFECIN R, C30TOORY ?
a) SFOTOTD b) dcoe

C) ©0g,x,5¢3 d) sToFeds
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36. Ganga Action Plan to arrest the degradation of river water quality was

launched in

a) 2001 b) 1986 c) 1972 d) 2012

[0 0T :'Socggeﬁdmaéh nomo 3,080 cdrenaodn B¢ WD,
T2, COWITDOWR.

a) 2001 b) 1986 c) 1972 d) 2012

37. Which of the following is a communicable disease ?

a) Cancer b) TB

c) Hypertension d) Cardiovascular disease

FENT 03RO T00T, W8 Breert ?

a) BIT’ b) goddner
c) ©0F J3dR3R d) 3p,en

38. The success of Social Forestry Scheme depends mainly on

a) Awareness b) Public participation
c¢) Local bodies d) All the above
PRRRF £Te, deend Voo e STOOWRT.
a) S0k b) TTEHIB IBLRNE,
c) Toeod oM d) 0¢IT QI

SPACE FOR ROUGH WORK
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39. National Tuberculosis Research |

40.

41.

nslitute 15 located at

b) Ahmedabad

a) Hyderabad
d) Bangalore

L] Il-r‘ T
ont BoBpegTD 60T, Qf), TNAQL] c

" b) w%mma‘
a) %dc‘ema‘?
c) T d) Ionyesd
3]
Maximum allowable concentration of fluorides in drinking water is
a) 1.0 mg/L b) 1.25 mg/L
c) 1.50 mg/L d) 1.75 mg/L
2R030% AOIYTUBITOR NOF, TTRET TRETG T B3
a) 1.0 mg/L b) 1.25 mg/L

The largest contributor of oil into the sea is

a) Oil spills from tankers

b) Oil reaching the ocean from land

c) From off shore wells

d) None of the above

TONTT &, 908 Hed)037 pleol

a) &39,080° XRedNT

b) 3, B3R, WHEoIPN FONTRY, Fedds
C) TNBRETT O WINPT LVOLRMOT XReTIE
d) Soeds cInRPYTe e,

SPACE FOR ROUGH WORK
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42. The first preference is to be given as far as the management of plastic waste i

a) Recycle b) Reuse

¢) Reduce of usage d) None

@13‘ mﬁmjmﬁ AT FIBERODY, SPNEWEET SPTOTOD FOT

a) YSTRIFD b) PIWFYE
C) WY T,WRT 3RS d) o3RRTRe UL,

43. The average life expectancy around the world is currently

a) Decreasing b) Increasing

¢) Not changing d) Stabilizing
SHRS WINSE BeNTIRHOIN SN
a) iesﬁmagd b) %%ﬁ)g

d) Torte eueOT

C) WRBE AL,

44. The disease which wiped off one third of the population in Europe in

12th Century is

a) Cholera b) Plague

c) Meningitis d) Diphtheria

5&16556 3BRRIR, 0320806 RE), 03 FIOSOWOT BWRTE 2OTTRD, Pt
TONETIRT ?
a) 0T

c) o0 L d) &4

&
(@
g
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45,

The objectives of integrated child development services are
a) Immunization b) Health checkup
c¢) Pre-school or formal education d) All the above
3D ﬁszps:bt% F03F 8,208 smmé emcierﬁ

a) TLT AT FTOFT, TN b) wdeen, TR

C) o FPwF Slpe d) S0edS 2P

46. The following does not transmit HIV

47.

a) Sharing needle b) Mosquito bite
c) Blood transfusion d) Breast feeding
B4 FENT CIRPYTO0T B 0.0, BORROY. ?

a) &0, seod RRRNY RTOWS b) Ardne 583

C) T8 woR=E d) TR

High level of radio active waste can be manage by
a) Composting b) Store indefinitely
c) Incineration d) Neutralisation

QFTEBLL T, TRONY ARFTETD IS

a) F0ReR o7 b) ) JedT=
C) wIRTT d) 3r,8,¢[esT
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48. Ozone depletion was first observed in

a) Arctic region b) Antarctic region

¢) Southern Hemisphere d) Northern Hemisphere

£,00RER* 3 0630FTER) FATY LOR A, THTHSTHOWL

a) SIFE T b) esotsFils =,0e3
c) csgheaﬁmv:qﬁr d) VT ReeTF

49. Where is the headquarters of WHO situated ?
a) New York b) London

c) Geneva d) New Delhi
WHO = 5,508 3¢3e0030 oina InouTS ?
a) BR,CRTE b) ©o@Es*

C) 2! d) 333D

50. The diseases caused by the lead in humans
a) Asthma b) Pneumonia
¢) Loss of memory d) Bronchitis
TR mmrz‘%aﬁ SVOLDRBNTIR Toen
a) XTI b) 3R BeeRodn

C) WPTITI B00BS d) Z9RERT SR0TT
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51.

52.

53.

542 O

Expanded form of VPD.
a) Vaccine Preventable Disease
b) Vaccination Preventable Disease

c) Vaccine Preventable Disable

d) None of these
VPDc® 0790 TR

—J & obIererF BT

a 2

) 9
b) =%, ég\iew; &, WL BT
C) 9, 3F B0t RRT

d) 2x3n¥d dnRTe SY

Which of the following is a vector disease ?

a) Tetanus b) Diabetes
c) Cancer d) Dengue
23 BYBOBINGE). CIRTI $eLNTCT TTRIT CRET ?

b) FoRoem

a) PDFCID
d) dcne, z:d

C) .30

The maximum limit of noise universally been accepted world wide for human

beings
a) 30 — 40 dbs b) 75 -85 dbs
c) 95— 110 dbs ) 15-20dbs
T, 0BT, 028 IRTTAR STHARWTHNTT NMOF T 2T T)3R0
a) 30 — 40 dbs b) 75— 85 dbs
d) 15-20 dbs

c) 95— 110 dbs

SPACE FOR ROUGH WORK
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54. The disease caused by Vitamin-B deficiency is

a) ScuN‘y b) Beriberi

c) Myopia d) Knee knock
DERWD® — W T3N3 WE Sen

a) NWF b) 23030

C) mmf&@m d) xommg

55. One of the steps taken to conserve wildlife is

C) Habitats protection d) Contour farming
3,236 FOTFRODHY, SRIROR Fo3

a) ©$UE T b) Jpewdont

C) &% K0T d) QWFoRE T,BeB TTF

56. Amoebic dysentery is caused by
a) Virus b) Bacteria
c) Protozoa d) None of the above
58700 LN TITEITIT 23D
a) %U"N“ b) 239,320035%

c) T, ceineRneme d) F0edT CIRRTR By,

57. Dialysis treatment is related to malfunctioning of
a) Thyroid glands b) Kidney
c) Lungs d) Pancreas
ZeDT 0300 WonD) :ﬁw%ﬁﬁ%ﬁmmﬁ BO3NOAT BRBUMIT ?
b) =org0m

a) T,000008° T,00N0
d) Soedpeziessoon

C) JXINCT

~
-
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58. Night blindness is due 10 the deficiency of

59.

60.

61.

a) Vitamin — B b) Vitamin — C
c¢) Vitamin — A '
D28, BT 33 WeSITT TRTICW0T eVOLPNOZT

b) e —C
d) o’ —D

d) Vitamin — D

a) AWI*—-B
C) D3 —A

What diseases caused due to deficiency of insulin ?

a) Diarrhoea b) Diabetes c) Cholera
BRI O ERTIC0T YVOLRMOT Teen

z) R ~lovelelovip b) Bodnwess* c) TJoo
The organ affected by spondylitis

a) neck b) kidney c) lungs

A ORG LR draeﬁs’a DJROT BexTT 2N

a) Boén b) Sowes,ao@ C) a%ﬁﬁmfa

HIV is transmitted through
a) Inter-course with infected persons
b) Sharing injection needles with infected persons

c) Infected blood transfusion

d) All the above

HIV o3 2@000 S0E083

a) deen weR3 3,80 o AO] tgjoﬁf RoTEE
b) deenciz 3,301 A00TFNY BSTT W3
C) SRR 2eRS T8 Jorms

d) S0edS P

ONER R

d) All the above

d) 200903 QP

d) heart

d) Bme

SPACE FOR ROUGH WORK
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T —— able to the following State,
l) Kﬂr Alel K e
- ) Karnataka

; d) Tamil Naduy
1980 T e3¢ ol ﬁodiﬁa Eacxﬁ% B3 39N oo

¥ 93020303 ¢
a) =R D Fod T e bmﬁ :JQ)CJQ,,E
L4 b ﬁ
c) 339 ) e

d) Saosbmemd
63. HIV is usually detected by

a) ELISA test

) S b) Hybridisation
c¢) Gramstaining
éw.m.a.ojoﬁg{ FOBOLAOINT DR
a) a@% woeg b) F0,3Jes

C) 7W9,CREQ0N d) Foeds cdnPYae e

d) None of the above

64. Black-lung is the occupational hazard to
a) Miners
b) Navigators
c) Pesticide applicator
d) Agriculturist
wp, 5 - 0o 3,30 oo B0, FOBONTIZT
a) [ UUdrajEﬁﬁ%b (RedT0DBOR VTR, NTL)
b) RT3, &,03506350C),
C) $,20T08F ACTATOBRIL,
d) 32 QTR ENNT,

SPACE FOR ROUGH WORK
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65. Ozone layer is presentin

66.

67.

a) Troposphere b) Stratosphere
¢) Mesosphere d) lonosphere

&1 39N CIRT BEOTE), SR FTRT ?
b) ) éiraeaajaaﬁ

a) &, Exper 0IT
d) e9003ReR0DT

C) SRR CDT’

POP stands for

a) Persistent Organic Pesticides

b) Persistent Organic Plastic

c) Permissible Organic Pollutants

d) Purifiable Organic Petrochemicals

POPo 23,3 Sex

C) DRFAWS BRFT Fpo, Lo

d) P 020dewS* BSRF T e, BB

-

The pH level of acid rain water is

a):5.7 b) 4.0 c) 5.6 d) 6.0
S0, ¥ 203 pH T, Bmee

a) 5.7 b) 4.0 ¢) 56

SPACE FOR ROUGH WORK
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68. The adverse effect of moderm agriculture s
a) Water logging b) Water scarcity
c) Water pollution d) All the above

SIS R Iev eI BT T[OBROMY0mdrRE T

a) Qe dWE b) QeLT e
c) mm%ﬁ d) S0ed7 wezp

69. Itai-Itai disease in Japan caused by consumption of rice contaminated with
a) mercury b) cadmium
c) iron d) carbon
BRI T, FOTOWTI BEICW -[EROW 50030 ARe0BIFTT oL
WHFOD TOFITO0T SATIIT.
a) 00X b) 5,300

C) 5?%8@ d) qomo

70. Unani system of medicine originated in

a) Paris b) Iceland

¢) Poland d) Greece

O30TR %dﬁﬁcéém U TOF,

a) msa# b) % Neley
d) nex*

C) RpR, 0T
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